Intersection: Distel Circle at El Camino Real, Mountain View, California
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gov.usdot.asnl.generated.j2735.dsrc.MessageFrame
value MessageFrame ::= {
messageld 18,
value MapData : {
msgIssueRevision 11,
layerType intersectionData,
intersections {
{
id {
region 0,
id 1023
}r
revision 0,
refPoint {
lat 373963429,
long -1221032587,
elevation 240
br
laneWidth 360,
speedLimits {
{
type vehicleMaxSpeed,

speed 782
}
}I
laneSet {
{
lanelID 1,

ingressApproach 3,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed, maneuverRightTurnOnRedAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x 2040,
y 339
}
by
{
delta node-XY4 : {
x 3099,
y —-1667
}



by
{
delta node-XY4 : {
x 2120,
y —-1168

}
br
connectsTo {
{
connectingLane {
lane 14,
maneuver {maneuverStraightAllowed}
by
signalGroup 6

}
by

{
laneID 2,

ingressApproach 3,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x 1860,
y 98
}
b
{
delta node-XY4 : {
x 3029,
y -1690
}
b
{
delta node-XY4 : {
X 2213,
y —-1168

}
b
connectsTo {
{
connectinglLane {
lane 15,
maneuver {maneuverStraightAllowed}
by
signalGroup 6

}
b
{
laneID 3,
ingressApproach 3,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
b

maneuvers {maneuverStraightAllowed},



nodelList nodes : {
{
delta node-XY3 : {
x 1544,
y —-159
}
b
{
delta node-XY4 : {
x 3115,
y —-1678
}
by
{
delta node-XY3 : {
x 1542,
y —-824
}
b
{
delta node-XY2 : {
x 704,
y =370

}
b
connectsTo {
{
connectinglLane {
lane 16,
maneuver {maneuverStraightAllowed}
b
signalGroup 6
b
{
connectingLane {
lane 4,
maneuver {maneuverStraightAllowed}

lanelID 4,
ingressApproach 3,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverLeftAllowed, maneuverUTurnAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x 1300,
y —452
by
attributes {
dWidth =30
}
by
{
delta node-XY5 : {
x 4045,
y —-2215
}



by
{
delta node-XY2 : {
x 856,

y 6

}
b
connectsTo {
{
connectingLane {
lane 9,
maneuver {maneuverLeftAllowed}
b
signalGroup 1
b
{
connectinglLane {
lane 7,
maneuver {maneuverUTurnAllowed}
by
signalGroup 1

lanelID 5,
egressApproach 4,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodeList nodes : {
{
delta node-XY3 : {
x 710,
y —-1722
b
attributes {
dwidth 30
}
b
{
delta node-XY3 : {
x 1391,
y —-800

}
by
connectsTo {
{
connectinglLane {
lane 16,
maneuver {maneuverStraightAllowed}
by
remoteIntersection {
region 0,
id 1024

}
by
{

lanelID o,



egressApproach 4,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x 870,
y —1417
}
b
{
delta node-XY3 : {
x 1362,
y —-803

}
bo
connectsTo {
{
connectinglLane {
lane 17,
maneuver {maneuverStraightAllowed}
by
remoteIntersection {
region 0,
id 1024

laneID 7,
egressApproach 4,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x 1076,
y -1166
}
b
{
delta node-XY3 : {
x 1306,
y —-765

}
bo
connectsTo {
{
connectinglLane {
lane 18,
maneuver {maneuverStraightAllowed}
by
remoteIntersection {
region 0,
id 1024



lanelID 8,
ingressApproach 5,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverLeftAllowed, maneuverRightAllowed, maneuverRightTurnOnRedAllowed},
nodelList nodes : {
{
delta node-XY4 : {
X —-812,
y —-1908
b
attributes {
data {
speedLimits : {
{
type vehicleMaxSpeed,
speed 559
}
}
b
dwidth -30
}
b
{
delta node-XY5 : {
x -25009,
y —4287
}
by
{
delta node-XY5 : {
x -2840,
y —-5086
}
b
{
delta node-XY5 : {
X -2129,
y —3843
}
by
{
delta node-XY5 : {
x =2776,
y -5109
}
}
b
connectsTo {
{
connectingLane {
lane 5,
maneuver {maneuverRightAllowed}
b
signalGroup 8
b
{

connectinglLane {



lane 16,

maneuver {maneuverLeftAllowed}

}y
signalGroup 8

laneID 9,

egressApproach 6,

laneAttributes {
directionalUse {egressPath},
sharedwWwith {},
laneType vehicle

by

maneuvers {maneuverStraightAllowed,

nodelList nodes : {

{

{}

delta node-XY4 : {
x -1163,
y —-1698
}
b
{
delta node-XY5 : {
X -2401,
y —-4363
}
by
{
delta node-XY5 : {
x -2900,
y —-5001
}
b
{
delta node-XY5 : {
X -2167,
y —-3802
}
by
{
delta node-XY5 : {

x —-2880,
y —-5094
}
}
}
laneID 10,

ingressApproach 7,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle
b
maneuvers {maneuverStraightAllowed,
maneuverRightTurnOnRedAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x -1894,
y —-358
by
attributes {

{}

maneuverLeftAllowed,

maneuverRightAllowed,

maneuverRightAllowed},



data {
speedLimits : {
{
type vehicleMaxSpeed,
speed 782
}
}
}I
dwidth 30
}
bo
{
delta node-XY5 : {
x —-4143,
y 2331
}
}l
{
delta node-XY6 : {
x —-8176,
y 4509
}
bo
{
delta node-XY4 : {
x -2460,
y 1374

}
b
connectsTo {
{
connectinglLane {
lane 9,
maneuver {maneuverRightAllowed}
b
signalGroup 2
b
{
connectinglLane {
lane 5,
maneuver {maneuverStraightAllowed}
b
signalGroup 2

laneID 11,
ingressApproach 7,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
by
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x =-1712,
y —-17
}
bo
{
delta node-XY5 : {
x -4073,



delta node-XY6 : {
X —-8240,
y 4529
}
by
{
delta node-XY4 : {
X —-2462,
y 1382
}
}
b
connectsTo {
{
connectingLane {
lane 6,
maneuver {maneuverStraightAllowed}
b
signalGroup 2

}
by
{

laneID 12,
ingressApproach 7,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x -1558,
y 267
}
b
{
delta node-XY5 : {
x —-3984,
y 2218
}
b
{
delta node-XY6 : {
x -8379,
y 4690
}
b
{
delta node-XY4 : {
x -2315,
y 1235
}
}
b
connectsTo {
{
connectingLane {
lane 7,
maneuver {maneuverStraightAllowed}



by
signalGroup 2
by
{

connectinglLane {
lane 13,
maneuver {maneuverStraightAllowed}

laneID 13,
ingressApproach 7,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
by
maneuvers {maneuverUTurnAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x -1351,
y 549
by
attributes {
dwidth -30
}
bo
{
delta node-XY4 : {
x —-3443,
y 1938
}
b
{
delta node-XY2 : {
x -748,
y -2

}
b
connectsTo {
{
connectinglLane {
lane 16,
maneuver {maneuverUTurnAllowed}
by
signalGroup 5

}
I
{
laneID 14,
egressApproach 8,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x -602,



y 1767
by
attributes {
dWwidth 30
}
bo
{
delta node-XY5 : {
x —-3931,
y 2081
}
b
{
delta node-XY4 : {
x -2553,
y 1392
}
bo
{
delta node-XY4 : {
x -1863,
y 1015
}
b
{
delta node-XY5 : {
x -4045,
y 2254
}
bo
{
delta node-XY4 : {
X =-2221,
y 1199
}
}
bo
connectsTo {
{
connectinglLane {
lane 4,
maneuver {maneuverStraightAllowed}
by
remoteIntersection {
region 0,
id 1022

laneID 15,
egressApproach 8,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x =799,
y 1454
}
b



delta node-XY5 : {
x -3759,
y 1977
}
b
{
delta node-XY4 : {
x -2596,
y 1402
}
b
{
delta node-XY4 : {
x -1997,
y 1128
}
b
{
delta node-XY5 : {
x —-4049,
y 2263
}
b
{
delta node-XY4 : {
X -2183,
y 1132
}
}
b
connectsTo {
{
connectinglLane {
lane 5,
maneuver {maneuverStraightAllowed}
by
remoteIntersection {
region 0,
id 1022

lanelID 16,
egressApproach 8,
laneAttributes {
directionalUse {egressPath},
sharedWwith {},
laneType vehicle : {}
br
maneuvers {maneuverStraightAllowed},
nodeList nodes : {
{
delta node-XY3 : {
x —-938,
y 1168
}
br
{
delta node-XY5 : {
x -3691,
y 1880
}
by



delta node-XY4 : {
x =-2704,
y 1527
}
b
{
delta node-XY4 : {
x -2094,
y 1104
}
b
{
delta node-XY5 : {
x -3952,
y 2233
}
b
{
delta node-XY4 : {
x -2315,
y 1252
}
}
b
connectsTo {
{
connectingLane {
lane 6,
maneuver {maneuverStraightAllowed}
b
remoteIntersection {
region O,
id 1022
}
b
{
connectinglLane {
lane 17,
maneuver {maneuverStraightAllowed}

lanelID 17,
egressApproach 8,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverUTurnAllowed},
nodeList nodes : {
{
delta node-XY6 : {
x =-7333,
y 4575
b
attributes {
dwidth -30
}
b
{
delta node-XY2 : {
X —-654,



y —67
}
b

{
delta node-XY5 : {

x —-5665,
y 3131

}
b
connectsTo {
{
connectinglLane {
lane 12,
maneuver {maneuverUTurnAllowed}

}
b
{
laneID 18,
laneAttributes {
directionalUse {ingressPath,
sharedWith {},
laneType crosswalk
b
nodelList nodes : {

{

egressPath},

{hasPushToWalkButton,

delta node-XY4 : {
x 2040,
y 799
}
}l

{
delta node-XY3 : {

x =945,
y -1512
}
bo

{
delta node-XY3 : {

x -848,
y -1366

}
b
connectsTo {
{
connectinglLane {
lane 19,
maneuver {maneuverRightAllowed}
b
signalGroup 16
}
}
b
{
laneID 19,
laneAttributes {
directionalUse {ingressPath,
sharedWith {},
laneType crosswalk
b
nodelList nodes : {

{
delta node-XY4 : {

egressPath},

{hasPushToWalkButton,

audioSupport}

audioSupport}



x —-147,
y —-2219
}
b
{
delta node-XY3 : {
X -1623,
y 1017
}
}
b
connectsTo {
{
connectinglLane {
lane 18,
maneuver {maneuverLeftAllowed}
by
signalGroup 10
b
{
connectinglLane {
lane 20,
maneuver {maneuverRightAllowed}
b
signalGroup 10
}
}
b
{
laneID 20,
laneAttributes {
directionalUse {ingressPath, egressPath},
sharedWith {},
laneType crosswalk : {}
b
nodelList nodes : {
{
delta node-XY4 : {
x -2010,
y —-857
}
b
{
delta node-XY3 : {
X 924,
y 1479
}
b
{
delta node-XY3 : {
x 895,
y 1369
}
}
b
connectsTo {
{
connectinglLane {
lane 19,
maneuver {maneuverLeftAllowed}
by
signalGroup 16






